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x2<-c(1,2,3,2)
x3<-c(2,1,1,2)
y0<-c(1,1,2,3)
n<-length(yd)
olsx2<-Tm(x2~x%x3)
resx2<-resid(olsx2)
0l52<-Im(y0~resx2+x3)
summary(ols2)

1. 2 AH == =3 tlu(e=8A vs. CHS3H)

= .~ Cov(X,Y)
CtEol L p = Var()
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call:
~ Tm{formula = y0 ~ resx2 + x3)
— 5 Cov(Xy,Y)
== = . —_— _— k:2 e k . .
E|‘59| ;"l . k VClT'(Xk) ’ ’ Fles1fu.e1'|s..2 ; \

-0.25 0.25 -0.25 0.25

Coefficients:

Estimate std. Error t value Pri=|t|)
{(Intercept) 1. 0000 0. 7906 1.265 0.426
resx 1. 5000 0. 5000 3. 000 0.205

(O:”) Yl — Bl + EZXZI: + E3X3i + U; x3 0. 5000 0.5000 1.000  0.500

Residual standard error: 0.5 on 1 degrees of freedom
Multiple R-squared: ©.9091, adjusted R-squared: 0.7273
~ Cov(X ,)/ F-statistic: 5on 2 and 1 oDF, p-value: 0.30153
- 2

27 var(X,)

olsx3I<-Tm{x3~x2)
resx3<-resid{olsx3)
0153<-Tm{y0-x2+resx3)
summary{ols3)
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L_QI-,XZI: — a1 + a2X3i + XZI:

~ call:
A Cov(X3,Y) Tm{formula = y0 ~ %2 + resx3)
3 _— ~
Var(X3) Residuals:
1 2 3 4
C ~ -0.25 0.25 -0.25 0.25
o X3 = a1 + Xy + X3
coefficients:
Estimate std. Error © value Pri=|t]|)

(Intercept) 0.7500 0.7500 1. 000 0. 500
®2 0. 5000 0.3536 1.414 0.392
resx3 2.0000 0.7071 2.828 0.216

Residual standard error: 0.5 on 1 degrees of freedom
Multiple R-squared: 0.9091, Adjusted R-squared: 0.7273
F-statistic: 5on 2 and 1 DF, p-value: 0.3015
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yobar<-mean(y0)
x2bar<-mean(x2)
x3bar<-mean(x3)
yOsd<-sgrt(var (yd))
x2s5d<-sqrt(var(x2))
x3sd<-sqrovar(x3))
sy0<- (yl-y0bar) /y0sd
sx2=-(x2-x2bar) /x2sd
sx3<-(x3-%3bar) / x3sd
sols<-Tm(sy0~sx2+s5x3-1)
summary({sols)
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Call:
Tm{formula = syl ~ sx2 + sx3 - 1)

Residuals:
1 2 3 4
-0.2611 0.2611 -0.2611 0.2611

Coefficients:
Estimate std. Error t value Pri=|t|)

sx2 1.2792 0. 3015 4,243 0.0513 .

5x3 1. 2060 0. 3015 4.000 0.0572 .

signif. codes: © “*#**' 0,001 ‘**' 0,01 “*' 0.05 “." 0.1 * ' 1
Residual standard error: 0.3693 on 2 degrees of freedom
Multiple R-squared: 0.9091, Adjusted R-squared: 0.8182
F-statistic: 10 on 2 and 2 DF, p-value: Q0.09091

= yOsd

[1] 0.9574271

> x2sd

[1] 0.8164966

= %354

[1] 0.5773503

> betaZhat<-summary(sols)icoef[1,1]* (y0sd/x2sd)
> betaihat<-summary(sols)icoef[2,1]* (y0sd/x3sd)
= hetazhat

[1] 1.5

> betalhat

[1] 2



